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1. O s the centre of the circle.If LZO=125°,find 4]

K

(i) 122.5° (ii) 127.5° (iii) 132.5° (iv) 117.5° (v) 147.5°

2. O is the centre of the circle. If ZFOH = 95°, find ZE

F
€

“E

(i) 62.5° (ii) 52.5° (iii)) 57.5° (iv) 77.5° (v) 47.5°

3. O is the centre of the circle. If ZFOE = 130° and £ZGOE = 109°, find £LFEG

F

E

(i) 60.5° (ii) 90.5° (iii)) 75.5° (iv) 65.5° (v) 70.5°



4. Find the missing angle in the following figure?

&

(i) 39° (ii) 34° (iii) 49° (iv) 64° (v) 44°

5. O is the centre of the circle and Ol = HI. Find £ZHOI

Y

G

(i) 90° (ii) 65° (iii) 70° (iv) 75° (v) 60°

6. O is the centre of the circle and O) = IJ. Find £JOH

H

J
(i) 120° (ii) 130° (iii) 135° (iv) 125° (v) 150°



7. O is the centre of the circle and OD = CD. Find reflex £ZDOB

=}

m

(i) 250° (ii) 240° (iii) 245° (iv) 255° (v) 270°

8. Find the side of the square in the following figure if the radius of the circle is 13.00 cm.

(i) 18.38cm (ii) 19.38 cm (iii) 17.38 cm (iv) 16.38 cm (v) 20.38 cm

9. O is the centre of the circle.If LG+ £LHOI = 208.5°,find LZHOI

G

(i) 169° (ii) 149° (iii) 144° (iv) 154° (v) 139°



10. O is the centre of the circle. If ZCED = 59° and LECF = 44°, find v°, w°

(i) 76°,51° (ii) 46°, 31° (iii) 31°, 46° (iv) 36° 31° (v) 56° 41°

11. O is the centre of the circle. If LZAOB = 144°, find the angle 4D
B

Vs

A
(i) 77° (i) 82° (iii) 72° (iv) 87° (v) 102°

Two circles touch internally. J is the centre of the bigger circle and lies on the smaller circle. If LGHI = 47°, find

12.
LG

(i) 73° (ii) 43° (iii) 58° (iv) 48° (v) 53°



'E' and 'F' are centres of circles of radii 5 cm and 19 cm such that EF = 26 cm and 'G' is the centre of the circle of
" radius 'r' cm which touches the above circles externally. If ZEGF = 90°, find 'r'

Al

(i) 5cm (i) 7cm (iii) 3cm (iv) 6cm (v) 4cm

14. AEFG is inscribed in a circle with centre O. If ZEOF = 137° and ZFOG = 140°, find £LGEF

(i) 75° (ii) 80° (iii) 85° (iv) 100° (v) 70°



15. AFGH is inscribed in a circle with centre O. If ZFOG = 127° and £GOH = 140°, find £LFGH

(i) 51.5° (ii) 46.5° (iii)) 61.5° (iv) 76.5° (v) 56.5°

16. AABC is inscribed in a circle with centre O. If ZAOB = 104° and £BOC = 138°, find £ZBCA

(i) 67° (ii) 62° (iii) 82° (iv) 52° (v) 57°

17. O is the centre of the circle. If LIJK = 124.5°, find £LKOL
J

(i) 79° (ii) 99° (iii) 69° (iv) 84° (v) 74°



18. O is the centre of the circle and LEBD = 33°, find ZBCD

D

(i) 128° (i) 133° (iii) 138° (iv) 153° (v) 123°

19. O is the centre of the circle. If ZGEH = 35° and £ZEGF = 18°, find LFEG

(i) 47° (ii) 67° (iii) 37° (iv) 42° (v) 52°

20. In the given figure, O is the centre of the circle and AD is a diameter. If ZADE = 62° and £BDC = 32°, find £LDAC

(i) 30° (ii) 45° (iii) 40° (iv) 35° (v) 60°



In the given figure, O is the centre of the circle and chord EF is equal to chord FG and Fl is a diameter. If LEIF =

21 29°, find £IHG

b
alt

(i) 134° (i) 129° (iii) 149° (iv) 124° (v) 119°

In the given figure, O is the centre of the circle and chord AB is equal to chord BC and BE is a diameter. If LZEAO
= 27° and £LCDE = 117°, find LABC
A

22.

(i) 126° (ii) 131° (iii)) 136° (iv) 156° (v) 141°

In the given figure, O is the centre of the circle, chord I} is equal to chord JK and HJ is a diameter. If LKH] = 48°
" find £1JK

(i) 99° (ii) 94° (iii) 114° (iv) 84° (v) 89°



In the given figure, O is the centre of the circle , chord DG is equal to chord GF. If ZDOE = 72° and £DGF = 103°,
" find LEFG

(i) 74.5° (ii) 89.5° (iii) 79.5° (iv) 104.5° (v) 84.5°

25. In the given figure, O is the centre of the circle. If ZHOI = 96° and ZIJL = 70°, find LKHO
K

(i) 58° (ii) 28° (iii) 38° (iv) 43° (v) 33°

26. In the given figure, O is the centre of the circle. If ZGOH = 65° and £ZHIK = 105°, find £)JGO

H

(i) 57.5° (ii) 62.5° (iii)) 47.5° (iv) 52.5° (v) 77.5°



27. In the given figure, O is the centre of the circle. If LFIG = 49.5° and £OFI = 36°, find £HGI

(i) 131° (ii) 126° (iii)) 156° (iv) 136° (v) 141°

28. In the given figure, O is the centre of the circle. If LZECD = 41° and £LABE = 95°, find £LCED

(i) 44° (i) 49° (iii) 54° (iv) 74° (v) 59°

29. In the given figure, O is the centre of the circle. If £JKN = 95°, find ZLMN
N

L

(i) 95° (ii) 110° (iii)) 100° (iv) 105° (v) 125°



30. In the given figure, O is the centre of the circle. If LZHIF = 66°, find LFGH

(i) 129° (ii) 114° (iii) 124° (iv) 144° (v) 119°

31. In the given figure, O is the centre of the circle and HK is a diameter. If £JKG = 85° and £LGHK = 66°, find £HI]

(i) 129° (ii) 124° (iii) 134° (iv) 119° (v) 149°

32. In the given figure, O is the centre of the circle and DE is a diameter. If ZEOG = 46°, find LDFG
D

(i) 72° (i) 77° (iii) 67° (iv) 82° (v) 97°



33. In the given figure, O is the centre of the circle and IL is a diameter. If ZJKL = 129°, find £]HI

(i) 44° (ii) 39° (iii)) 69° (iv) 49° (v) 54°

34. In the given figure, O is the centre of the circle and BD is a diameter. If ZCAB = 60°, find £LCBD

D
(i) 45° (ii) 35° (iii) 30° (iv) 40° (v) 60°

In the given figure, O is the centre of the circle and IK is a diameter. If ZHOK = 100° and £0K] = 65°, find ZIJH +

35.
LJIK

(i) 80° (ii) 65° (iii) 95° (iv) 70° (v) 75°



In the given figure, O is the centre of the circle and FH is a diameter. If LZEGF = 29° and ZFEG = 65°, find ZHFG

36.
+ LEGH

(i) 86° (ii)) 96° (iii) 116° (iv) 91° (v) 101°

37. In the given figure, O is the centre of the circle. If ZCDE = 124°, find LEOC + LCBE
D G

(i) 304° (i) 309° (iii) 319° (iv) 314° (v) 334°

38. In the given figure, O is the centre of the circle. If ZI)JM = 115° and £JKL = 119°, find ZKNL

M

(i) 69° (ii) 84° (iii) 64° (iv) 59° (v) 54°



39. In the given figure, O is the centre of the circle . If LZEHF = 78° and LEDG = 64°, find £LDIE

(i) 36° (ii) 26° (iii) 31° (iv) 41° (v) 56°

40. In the given triangle S is the circumcentre. If SC = 13.40 cm, find the circumference of the circumcircle
C

(i) 84.2cm (ii) 86.2 cm (iii) 83.2cm (iv) 85.2cm (v) 82.2cm

41. Two circles with radii R and r touch internally. If the distance between their centres is d, then

(i) d=R-r (ii) d<R+r (iii) d=R+r (iv) d>R-r (v) d<R-r

42. Two circles with equal radii are

(i) congruent (ii) concentric (iii) not similar (iv) only similar but not congruent

43. If two circles of radii 12 cm and 6 cm touch internally, the distance between their centres is

(i) 6cm (ii) 4cm (iii) 5cm (iv) 7cm (v) 8cm

44. |If two circles of radii 12 cm and 5 cm touch externally, the distance between their centres is

(i) 17 cm (ii) 15cm (iii) 16 cm (iv) 18cm (v) 19cm



In the given figure, O is the centre and IM is a diameter of the circle and chord I is equal to chord LM. If ZJHL =

45.
50°, find ZLHM + ZJKL

(i) 165° (i) 155° (iii) 150° (iv) 180° (v) 160°

46. In the given figure, O is the centre of the circle. If LZBAC = 46° and LACD = 34°, find £LCED
B

D

(i) 115° (ii) 130° (iii)) 110° (iv) 100° (v) 105°

47. In the given figure, O is the centre of the circle. If LZIGH = 52°, find reflex LHOF
F

(i) 266° (ii) 286° (iii)) 256° (iv) 271° (v) 261°



48. O is the centre of the circle. If Arc DF = 2 Arc FG and £ZDOF = 90°, find £DGF

N
E

(i) 45° (ii) 55° (iii) 75° (iv) 50° (v) 60°

49. O is the centre of the circle. If Arc CE = 2 Arc EF and £ZCOE = 88°, find LFCE

(i) 32° (ii) 22° (iii) 27° (iv) 52° (v) 37°

50. O is the centre of the circle. If Arc DF = 2 Arc FG and £ZDOF = 84°, find LDEF

(i) 143° (i) 168° (iii) 138° (iv) 153° (v) 148°



In the given figure, a pentagon is inscribed in a circle with centre O. Given DE = EF = FG and £ZDEF = 122°. Find

51.
£LDCE

(i) 44° (i) 29° (iii) 39° (iv) 59° (v) 34°

In the given figure, a pentagon is inscribed in a circle with centre O. Given I = JK = KL and ZIJK = 112°. Find

2.
> £IHL

(i) 107° (i) 102° (iii) 112° (iv) 132° (v) 117°

In the given figure, a pentagon is inscribed in a circle with centre O. Given BC = CD = DE and £ZBCD = 110°. Find

53.
LDOE

(i) 80° (ii) 70° (iii) 85° (iv) 100° (v) 75°



In the given figure, a hexagon is inscribed in a circle with centre O. Given AB = BC = CD and £ZDEF = 129.55°.
" Find LAEF

B A

(i) 54.55° (ii) 69.55° (iii) 49.55° (iv) 39.55° (v) 44.55°

In the given figure, a hexagon is inscribed in a circle with centre O. Given I) = JK = KL and ZLMN = 122.91°. Find
£NIJ

55.

(i) 127.09° (ii) 132.09° (iii) 147.09° (iv) 117.09° (v) 122.09°

In the given figure, a pentagon is inscribed in a circle with centre O. Given AB = BC = CD , £ZBCD = 116° and

26 LEAB = 112°. Find LABC

(i) 121° (i) 146° (iii) 126° (iv) 131° (v) 116°



In the given figure, a pentagon is inscribed in a circle with centre O. Given AB = BC = CD , £ZBCD = 112° and

>7. LEAB = 120°. Find £LCDE

N 8
A
(i) 124° (ii) 109° (iii) 104° (iv) 99° (v) 94°

In the given figure, a pentagon is inscribed in a circle with centre O. Given AB = BC = CD , £ZBCD = 119° and

58.
LEAB = 116°. Find LAED

(i) 106.5° (ii) 101.5° (iii)) 96.5° (iv) 121.5° (v) 91.5°
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